y

Mobile 'Storagé Systerms

Lund Court Farm,Nawton, York, North Yorkshire, England YO 62 7T Z
Tel. & Fax No. 0844 B79 4440
Email: info@ mobilestoragesystem s.net

PUMA GLOVE BOX

FITTING INSTRUCTIONS

Fitting Kit Contents:

2x M4 x 8mm Counter sunk screws
4 x M4 x 8mm Button head screws
6 x M4 Flanged nut

4 x 4 x 13mm self tapping screws

Using a T30 Torx key remove the 2 screws fixing the top of dash on the passenger side. Keep these screws
as they will be needed later.

Remove the 8mm flat cups (see pic 1.) and remove the polystyrene block. Keep the 2 flat cups as they will
be used later

**Top Tip. ** to remove the flat caps use a small screw driver to prise the prongs open if necessary.
Cut the bottom plastic securing tube so that it is flush. (see pic 2)

Place the hinge panel into position (see pic 3.) Secure into place using both the 8mm flat cups onto the
remaining 2 plastic securing tubes and the 2 M4 x 8mm counter sunk screws with the flanged nut on the
outside. (see pic 3a.)

OPTIONAL
Once secure cut off the excess of the plastic securing tube with a Stanley knife if required

Fix the 2 angled brackets to the base tray using the 4 x M4 x 8mm button head screws and 4 x flanged nuts
(pic 4.)

OPTIONAL

The 4 plastic fins inside of the dash can be removed with a Stanley knife blade if required. (please note the
plastic can scratch easily and care is needed)

Slot the bottom tray into position as shown (pic 5.), drill a 2mm pilot hole and fix using 4 x 4x13mm self
tapping screws.

Position the top in place and fix to existing holes using the 2 x torx screws removed at the start.



Cut off flush

R

Flat cups

Pic 1. ~ . Pic2.

Pic 3. Pic3a

Pic4 Pic 5.




